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WEST BENGAL STATE UNIVERSITY 

B.Sc. General Part-III Examination, 2020 

PHYSICS 

PAPER-PHSG-IV-A 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any ten questions from the following:
িনmিলিখত েয-েকােনা দশিট  pেűর উtর দাওঃ 

2×10 = 20

(a) What is the working principle of an internal combustion engine? 
অnদ�হন ইিĂেনর কায�করী নীিত িক ? 

(b) What is solar constant? Write its value in S.I. unit. 
েসৗর rবক িক ? S.I. একেক এর মান েলেখা। 

 

(c) Why is the brake horse power (BHP) of an engine always less than its indicated 
horse power (IHP)? 
একিট ইিĂেনর েbক অƬkমতা সব�দা সূিচত অƬkমতা অেপkা কম হয় েকন ? 

(d) What is green house effect? 
gীন হাউস িkয়া িক ? 

(e) Write down Barkhausen criterion for sinusoidal oscillation. 
snন িচরsায়ী করার জন° বাক�হাউেসেনর শত� উেlখ কেরা। 

(f) Draw the logic circuit of a D-Flip-Flop. 
D-িŅপ-Ņপ-এর লিজক বত�নী আঁেকা। 

(g) Design a 1:4 demultiplexer using basic gates. 
েবিসক েগট ব°বহার কের 1:4  িডমািlেpkার িডজাইন কেরা। 

(h) Write down BCD of (123)10. 
(123)10 -এর BCD সংেকতিট েলেখা। 

(i) Find the value of frequency of a Wien Bridge Oscillator given μF1.0=C  and 
kΩ2.2=R . 

Wien Bridge Oscillator-এর কmাì িনণ�য় কেরা। েদওয়া আেছ μF1.0=C  এবং 
kΩ2.2=R । 
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(j) Define signal to noise ratio. 
‘signal’ এবং ‘noise’-এর অনুপােতর সংjা দাও। 

(k) What are the basic advantages of an optical fibre over an ordinary cable 
transmission of electromagnetic wave? 
একিট তিড়ৎcmকীয় তরñ সĀালেনর জন° সাধারণ েকবল তােরর tলনায় আেলাকীয় তntর 
সুিবধাgিল িক িক ? 

(l) Define frequency modulation. 

কmাì মɋেলশান এর সংjা দাও। 
(m) What is the role of internal cache memory in a CPU? 

CPU এর িভতর আভ°nরীন cache memory-র ɛিমকা িক ? 

(n) Write xx elog)2(tan 1 ++−  in FORTRAN or C language. 

xx elog)2(tan 1 ++−  েক FORTRAN অথবা C ভাষায়  েলেখা। 

(o) A cathode ray tube has an electron beam that has been accelerated through a 
potential difference of 2 kV. Calculate the velocity of the electron. 

একিট ক°ােথাড রিŲ িটউেবর মেধ° একিট ইেলক¹ন েক 2 kV িবভবpেভেদর মেধ° িদেয় tরািnত 
করা হেলা। ইেলক¹েনর গিতেবগ িনণ�য় কেরা। 

  

 GROUP-A 

িবভাগ-ক 

 Answer any one question from the following 

িনmিলিখত েয-েকােনা একিট  pেűর উtর দাও 
10×1 = 10

2.  (a) Give the basic principles of measuring pressure by Pirani gauge and Penning 
gauge. 

িপরানী েগজ এবং েপিনং েগজ dারা চাপ পিরমােপর মূল নীিতgিল েলেখা। 

2+2

(b) What is the range of ‘high vacuum’? Give an example where high vacuum is 
necessary. 

উcমাtার িনব�াতেনর সীমা িক ? উcমাtার িনব�াতন pেয়াজন হয় এমন একিট েkেtর উদাহরণ 
দাও। 

1+1

(c) An Otto engine has its compression ratio 5. Find its efficiency. 

একিট অেটা ইিĂেনর সংনমন অনুপাত 5, ইহার কম�দkতা কত ? 

2

(d) What is the basic principle of heat engine? 

তাপ ইিĂেনর মলূ নীিত িক ? 

2

  

3.  (a) Explain with equation how energy is released in nuclear fission of 235
92 U . 

িনউিkয় িফশন পdিতেত 235
92 U  েথেক িকভােব শিk িনগ�ত হয় সমীকরণসহ ব°াখ°া কেরা। 

4



B.Sc./Part-III/Gen./PHSG-IV-A/2020 

3532 3  Turn Over 

(b) Show that the available windpower from a wind mill is given by 832 vDP ρπ= , 
where D is the diameter of the blade, v is the velocity of the wind blowing, ρ  is 
the density of the air. 

েদখাও েয হাওয়া কেল বায় ু েথেক pাp kমতা 832 vDP ρπ= , েযখােন D হেc েbেডর ব°াস, 
v-েbেডর িদেক হাওয়ার গিত, ρ -বায়ুর ঘনt। 

4

(c) Why biogas energy source is more beneficial than other source of energy? 
অন°শিk উৎেসর tলনায় বােয়াগ°াস েকন েবশী উপকারী ? 

2

  
4.  (a) Explain why Rankin cycle is used rather than Carnot cycle in a thermal power 

plant. 
একিট তাপিবd°ৎ েকেnd কােন�াচেkর পিরবেত� র °াি�কন চk ব°বহার করা হয় েকন ? ব°াখ°া কেরা। 

2

(b) Describe an Otto cycle and obtain expression for its efficiency with PV diagram. 
অেটা-চk বণ�না কেরা এবং এর কম�দkতার রািশমালা PV িচtসহ pিতŸা কেরা। 

2+3+1

(c) What do you mean by ‘calorific value’ of fuel? 
jালানীর ‘ক°ােলািফিরক’ মাtা বলেত িক েবাঝায় ? 

2

  

 GROUP-B 

িবভাগ-খ 
 Answer any one question from the following

িনmিলিখত েয-েকােনা একিট  pেűর উtর দাও 
10×1 = 10

5.  (a) Explain the circuit diagram and derive the expression for the output voltage for an 
ideal non-inverting OP-Amp. 
একিট আদশ� নন-ইনভািট�ং OP-Amp-এর বত�নী িচt অìন কের আউটপুট িবভেবর রািশমালা 
pিতŸা কেরা। 

2+2

(b) What is half adder? Draw its circuit diagram using logic gates. Give its logic 
equation and truth-table. 
অধ�েযাজক িক ? লিজক েগট ব°বহার কের এর বত�নী অìন কেরা। এর লিজক সমীকরণ ও 
সত°সারণী েলেখা। 

1+2+3

  
6.  (a) How can S-R flip-flop circuit be constructed using NAND gate? Write the truth 

table for a S-R flip-flop. 
NAND gate-এর সাহােয° িকভােব S-R িŅপ-Ņপ বত�নী �তরী করা যায় ? S-R িŅপ-Ņেপর 
সত°সারণী েলেখা। 

2+2

(b) What are preset and clear in a flip-flop? 
িŅপ-Ņেপ preset ও clear কােক বেল ? 

2

(c) What is the basic difference between synchronous and asynchronous counter? 
সমলয়ন ও অসমলয়ন গণেকর মেধ° মূল পাথ�ক° িক ? 

2

(d) What is seven-segment display? 
েসেভন েসগেমn িডসেp কােক বেল ? 

2
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7.  (a) Obtain an expression for an amplitude modulated carrier wave with sinusoidal 

modulation. 
সাইনীয় তরেñর সাহােয° িবsার মɋেলশনযুk বাহক তরেñর রািশমালা িনণ�য় কেরা। 

4

(b) Describe the structure of an optical fibre. 
আেলাকীয় তntর গঠন বণ�না কেরা। 

2

(c) Show that: 
েদখাও েযঃ 
(i) BCACABBACAB ++=⊕+ )(  

(ii) )( CBACABCBAABC +=++  

2+2

  

 GROUP-C 

িবভাগ-গ 
 Answer any one question from the following 

িনmিলিখত েয-েকােনা একিট  pেűর উtর দাও 
10×1 = 10

8.  (a) Write a program in FORTRAN or C language to determine the magnitude of a 
3-dimensional vector. 
একিট িtমাtীয় েভkেরর মান িনণ�েয়র জন° একিট েpােgাম েলেখা FORTRAN অথবা C ভাষােত। 

5

(b) Explain the terms ‘Algorithm’ and ‘Flow chart’. 
‘Algorithm’ ও ‘Flow chart’ বলেত িক েবাঝায় ? 

2

(c) What is an operating system (OS)? Name a few commonly used OS. 
অপােরিটং িসেsম (OS) বলেত িক েবােঝা ? সাধারণভােব কেয়কিট pচিলত OS-এর নাম উেlখ 
কেরা। 

1+2

  
9.  (a) Write a program in FORTRAN or C language to determine area of a triangle 

whose sides are given. 
FORTRAN অথবা C ভাষােত একিট েpাgাম েলেখা, যার সাহােয° একিট িtɛেজর েktফল িনণ�য় 
করা যায়, িtɛেজর িতনিট বাh েদওয়া আেছ। 

4

(b) If 8,3 == JI  and 4=K , what is the value of A when JKIJA 43 −∗∗= ? 

8,3 == JI  এবং 4=K , হেল A এর মান িনণ�য় কেরা যখন JKIJA 43 −∗∗= । 

2

(c) What is the basic difference between compiler and interpreter? 
পাথ�ক° ব°াখ°া কেরা compiler এবং interpreter-এর মেধ°। 

2

(d) What is string-character? 
িsং-ক°ােরকটার িক ? 

2

 
——×——

 


